EEERR

HEBEIEL T2 1ATHT

TWEF

HELAEOANEZ (FHROMANBDLOTFEL

—

HER

gi_f,Ag CDZZ*/:L—}I«II, ﬁ%pr.ﬁﬂinr WETDT E&’)(D

EZE&EEL\LEQ o
54

AE BmE CmE
i HOME  xt#  AWAY %=/G HOME  xf#  AWAY %=/G HOME &  AWAY %/
1] 9:30 A-1 _ A-2 B-1/Mi/ _ C-1 C-2 D-194F/
: HEY —ZRED | A2=%R #q mE C-2mE
2| 9:45 B-1 B-2 A-2=%R/ _ D-1 D-2 C-2m%E/
INGG As AMHEY HE | C-1%T
. A-3 A-4 B2/ _ C-2 _ C-3 D24 k/
3110:00 | e Il Bl mE & MR
4110:15 B-2 B-3 A-ash)il/ _ D-2 D—S) C-3mE/
BI=] Z3FBLUE [ A-3# #HE fbEh | CmE
1 51 10:30 A-3 A-1 B-3=%8/ A-4 A-2 B-1/v/ C-3 _ C-1 D-3t=5 1£7/
V=3 ) 1l HEY B-2ms a1l ZSFRED [ bAF i E ¥ p-2#E
HE 6110:45| _ B-3 B-1 MHEY/ D—SQ D-1 c-1%R/
o — 3FBLUE N A-3HlI =614 SNF C-3mE
R 11:00 A2 —nNJL 155
7] 11:15 ERBO HERBO ERBO ERBD
11:30 A=\ 155
8[11:45 SR TE B R REF 3R
12:00 1FEDE BHRERRV. RERX - BRI
1112:30 A-1 A-2 B-147 L/ _ C—l@ C-2 D-154F/
N &l A28 =5 I1E7%B M E C-2mE
2| 12:45 B-1 B B-2 A28/ _ D-1 D-2 C-2mE
L 3 A1 HE KT |errsrns
31 13:00 A-3 A-4 B-2%T/ _ C-2 C-3 D-2AKTIII/
: e HEY B-1#E HE i D-15HF
4l13:15 B-2 B-3 A4BEY/ _ D-2 D-3 c-3s1/
xF =F ASmR AT =5 (E7%A| C2mE
51 13:30 A-3 _ A-1 D-3#= 5 A A-4 A-2 B-1#AL/ c-3 C-1 B-3=%/
) =] N M2KTN | HEY &)l D-15bF )il f=b 7B | B2%¥
2 6l13:45| B3 _ B-1  |cirsuns D-3 D-1 At/
& : —=% | /G-3RIl =5 F17A P A3EB
&l [14:00 £U8—\L 15%
D
=R 7| 14:15 ERBO ERBO ERBO ERBO
14:30 AR —NL 155
8| 14:45 SLRTEH RES R 3R
15:00 HERT REXER AT
15:15 2FEDE HRERRV., R¥ RRRE
2957 - 2BEWNET BEAHETLI.

B EF—LBRAN—T I LBAT, BPRE

I—F+

aLT

EE5% HEABHISOFIv I LI FPRTHEMRHELTFEL,

(g, A—FICABHIZITo>TREELY

)

ER2 MATEHDOEM

(AN

0y )RR A
=R, R AR

®EX. LTSRS

12
12
15



